0101013t
OIZX| SX(ASIZRI/ 0! - HAW)
=% 29 (Sr9): 1)
SA - 3 - SA(SIH) - MBAY - B S Oll &+t JIEN HwsZ
013} 140,294,353 139,763,655 530,698
2 90,567,363 91,772,490 A1,205,137
o 257,227 257,227 0
= 10,729,094 10,754,326 725,230
= 400,000 0 400,000
Al 38,340,679 3,979,612 1,361,067
COI=X BR(ASIZRI/ 0l - HAH) 106,900,263 108,088,279 A1,188,016
2 73,769,380 75,298,553 A1,529,173
o] 257,227 257,227 0
= 7,497,475 7,566,451 £68,976
= 400,000 0 400,000
Al 24,976, 181 24,966,048 10,133
2% 29 232,156 229,224 2,9
sEz e 230, 166 229,204 2,9
101 21218 3,176 3,244 2,93
USIEEEDU=T=ES 3,176 30,244 2,93
Ostamze| Bxols 3,176 3,244 2,93
—sigFeR BXOR  FH 29,313,000 29,313 26,381 2,93
col=x =& 88,585,407 90,402, 139 A1,816,732
2 73,369,400 74,898,573 A1,529,173
o 67,316 67,316 0
= 3,162,783 3,213,818 ~51,035
Al 11,985,908 12,222,432 £236,524
(RN 1,468,585 1,477,070 8,485
201 Br2Y] 37,285 25,770 1,515
01 AF= 22l 27,285 15,770 1,515
O0l24l AYBTIE WRIE R
35021 * 32,9000 11,515 0 1,515
307 2120l & 189,300 209,300 220,000
04 SIZFEAAI B F 20,000 40,000 220,000
OEEEPIEEWIET-LIPAED) 233 0 0 10,000 210,000
Owololg JlY B4Lol 2| (SBY A)
233 0 0 10,000 A10,000
COIAEI B S RO 3,960 20,960 A17,000
307 2120 & 0 17,000 A17,000
04 CIZFEAAI B % 0 17,000 A17,000
Owololg Il LoINBIRISIE (28 Al)
3% 02 0 17,000 A17,000
S25XERRY 49,942 56,842 26,900
201 Yur2 Y| 47,743 54,643 26,900
02 ZZ=H] 47,743 54,643 76,900
ONBIET AR (T A1)
23 1,000,002 1,000 2,400 A1,400




S OIEOfID
Ha: LOl=X| SR(ABIEX/ 0l - HAE)
el Lol=x| =3 (E491: &)
SN - 3 - SRA(SIH) - MRAY - BES Ol &FoH JIEH HwEZ
OugRn(IEaY A)
A% 2,500,002 2,500 5,000 £2,500
O4F2INE STl BA(SBYH A2
A 0 0 1,200 A1,200
ONEYT B2(28Y A1) A% 0 0 1,800 A1,800
EVELERE 73,233,260 75,784,998 £2,551,738
2 65,909,934 68,206,498 £2,296,564
= 1,464,665 1,515,700 A51,085
Al 5,858,661 6,062,800 204,139
301 LBFES 73,233,260 75,784,998 £2,551,738
2 65,909,934 68,206,498 ~2,296,564
= 1,464,665 1,515,700 ~51,035
Al 5,858,661 6,062,800 £204,139
REEE =P = 73,233,260 75,784,998 ~2,551,738
OJIZSZ T2 A 73,233,260,0002 73,233,260 75,784,998 £2,551,738
= 65,909,934 68,206,498 ~2,296,564
= 1,464,665 1,515,700 ~51,085
Al 5,858,661 6,062,800 £204, 139
(2)colUniel U ASHSTY 20 8,456,578 8,456,578 0
2 4,228,289 4,228,289 0
= 1,268,486 1,268,486 0
Al 2,959,803 2,959,803 0
101 Q12148] 441,239 437,949 3,290
= 218,975 218,975 0
= 65,692 65,692 0
Al 156,572 153,282 3,290
IEIy [EEDNEL=RS 441,239 437,949 3,290
OLQIASIZE KR (BAHSEOIR) 414,290 411,000 3,290
—SSHI(DSBH:"HEHI"0A)
2% 410,180,0002 410,180 406,890 3,290
= 203,445 203,445 0
= 61,083 61,033 0
Al 145,702 142,412 3,290
206 2| 17,260 20,550 £3,290
2 10,275 10,275 0
= 3,082 3,082 0
Al 3,903 7,193 £3,290
01 MZ4l 17,260 20,550 3,290
LOINSIZS KR (BAVSHOR SUHBHI)
(ASYF: IV IENSEL'2)
A 17,260,000 17,260 20,550 £3,290
= 10,275 10,275 0
= 3,082 3,082 0
Al 3,903 7,193 £3,290
(2)22UHY AT ZAT 935,971 168,580 767,391
2 935,971 168,580 767,391
301 YBrEED 935,971 168,560 767,391




SA: L QIEOHRI Dt
M LOI=X| SE(AEISXI/ L0l - HAH)
& Lol=EX & (CH9): HSl)
A - M SA(SH) - MEAIY - BES 04| AroH J| &M Hlus2
= 935,971 168,580 767,391
01 AIBIBEE 62 935,971 168,580 767,391
O2ZLH9 AFXF HXIRH(=ZHEE AIZ)
338 935,971,000 935,971 168,580 767,391
= 935,971 168,580 767,391
22" 2gAIY 5,687,392 5,000,432 686,960
= 399,980 399,980 0
Jl 189,911 189,911 0
= 497,852 497,852 0
X 400,000 0 400,000
Al 4,199,649 3,912,689 286,960
d=2Y 29 2,660,604 1,973,644 686,960
= 400,000 0 400,000
Al 2,260,604 1,973,644 286,960
201 LEt2HH| 21,860 25,900 4,040
02 32494l 21,860 25,900 4,040
OZBZY HI|oHN HH(TSHEH AR
43 21,860,000& 21,860 25,900 A\4,040
301 LEtBAS 166,000 250,000 84,000
01 AIRIEEE 063 166,000 250,000 284,000
OB HFoE 2dH|(28Y A2)
28 0 0 67,200 267,200
O2E HFoE dUHgd|(E2H A2
338 0& 0 16,800 16,800
401 AlIEHILE0HY| 1,380,000 580,000 800,000
= 400,000 0 400,000
Al 980,000 580,000 400,000
01 Al&HI 1,380,000 580,000 800,000
O2+H 2512 2 NS (SEXFNES)
400,000,000& * 1IHA 400,000 0 400,000
= 200,000 0 200,000
Al 200,000 0 200,000
OFH2E HEHZY MF(SEXFNE2)
400,000,000& * 10HA 400,000 0 400,000
S 200,000 0 200,000
Al 200,000 0 200,000
402 SIHXHE0|H 890,000 915,000 25,000
01 QIZFXIEAIL BX(XIAMITHE) 890,000 915,000 A25,000
OBSHFE ANEEX(ES2H A
38 0& 0 20,000 20,000
OBSHFL SEXNJ(ESH A2
38 03 0 5,000 A5,000
ASISXIAIE K& 12,395,308 12,456,484 61,176
& 3,836,840 3,854,781 17,941
Al 8,558,468 8,601,703 43,235
COISXIANE) I sE2AH 33,623 35,000 N1,3877




A IRl
B Lol=R| ER(ABI=A/ 0l - HAY)
Sl AIEI=XIAIE IR (Sr9): 1)
S - BB O(BH) - HRAY - BES Ofl At J15Y HRE2
402 RIRHR=0IH 33,623 35,000 A1,377
03 BIRISIE ALt 3,623 35,000 A1,377
OYZANYYRR U4E [y 7Y (DT
A2t AT 33,622,080 33,623 35,000 A1,377
(E) =T NE 2SN 9,363,971 9,397,883 233,912
= 2,809,190 2,819,365 A10,175
Al 6,554,781 6,578,518 £23,737
301 LBFES 9,363,971 9,397,883 733,912
= 2,809,190 2,819,365 A10,175
Al 6,554, 781 6,578,518 N3, 737
01 ABIEEHAES 9,363,971 9,397,883 £33,912
OFIIQYI |2 Z0iHIS X
A 9,035,398, 0002 9,035,398 9,069,310 £33,912
= 2,710,618 2,720,793 A10,175
Al 6,324,780 6,348,517 £23,737
(S) OIS TIAIESAKIXI R 643,593 669,480 £25,887
= 193,078 200,844 AT,766
Al 480,515 468,636 A18,121
301 LBFES 643,503 669,480 N25,887
= 193,078 200,844 AT,766
Al 460,515 468,636 A18,121
REEE = 643,593 669,480 N25,887
OLQI=TAE BAR 4 X2
23 643,598, 0002 643,593 669,480 ~25,887
= 193,078 200,844 AT,766
Al 480,515 468,63 A8, 121
Dol SXZF(ABI=X/FHAHEXR) 31,232,539 30,790,692 441,847
= 16,797,973 16,473,937 304,036
= 3,231,619 3,187,875 43,744
Al 11,202,947 11,128,880 74,067
TSNS 31,232,539 30,790,692 441,847
= 16,797,973 16,473,987 304,036
= 3,231,619 3,187,875 43,744
Al 11,202,947 1,128,880 74,067
OOl XA 269,773 273,648 3,875
201 Yty 45,148 45,648 A500
01 Ar= 22l 45,148 45,648 A500
OBMRINSER P(SBY A1)
3 0 0 500 A500
401 AIEBILSTHY| 24,125 27,500 3,375
01 A& 24,125 27,500 73,375
ORO! HSBHP SLHEML MR (YT
A2t A 24,124,7302 24,125 27,500 £3,375
EEEE] 120 2,880 £2,760




S ozl
2 HOHO! SXSE(ARIEX]/FHAHSKI)
&2l ZoHe SXsA CERE)
2N - F2 - H2A(ZH) - HI2AY - HES 04| AroH J| &M Hns2
301 LEEAZ 120 2,880 A2,760
09 HAIAHIXIR 2 120 2,880 A2,760
OXHeImE &4 oH| X 120 2,880 A2,760
—HOHQIXIEAF WS A OH[(ZSHAH AR
23X 120,000 120 1,440 21,320
—ZOHOISXI2E NS BA (HI(S2H A1)
33 02 0 1,440 A1,440
ZLOHQIHALKI 43,740 54,620 210,880
301 LEEHZ 4,240 6,120 A1,880
09 SAIAHIXIRZ2 4,240 6,120 A1,880
OXOHCIHAL A 0| K& 4,240 6,120 A 1,880
—ZOHQIO) & BAF FHA OHI(HEAY ALR)
A3 200,000 200 1,440 21,240
—HOHQIAHE] A OdHI (AR )
A 1,400,000 1,400 1,440 240
— OISR A odl(0lAarE)
23X 839,500 840 1,440 AB00
307 G120l 39,500 48,500 29,000
11 AIBIEXAIE B X 39,500 48,500 29,000
O Al &HOfQ!I H225H ALY 11,500 20,500 29,000
— K ™SSRl XD =&UH3(BEXE
80%) (22U Ar2) 3 02 0 5,000 25,000
—=012l A2 AI(ESH A2
33 02 0 4,000 24,000
Z0HRIDISEIITHEIXI & 1,152 1,440 288
301 LEEHZ 1,152 1,440 288
09 SHAIAHIXIRZ2 1,152 1,440 283
OZHOHRIDISADIHEl &DF o] X2 (GlArE2)
A 1,152,000 1,152 1,440 288
ZHOHQICHH JIs=2Y 20,040 21,150 A1,110
401 Al&HILS20HY] 20,040 21,150 A1,110
01 Al&H] 20,040 21,150 A1,110
OZOHRIHH(RNEZ0NCISS|, =0IRIEs])
SRS U SIEA B (ZATH A
2 20,040,000 20,040 21,150 A1,110
ABIEXIAF HLMA 66,520 75,600 29,080
301 YBtEAZ 66,520 75,600 29,080
01 MBI 2 E 252 66,520 75,600 29,080
OIS AIAIE & SHl AISISKISAHA =
(TS ZoH AF2E) A 66,520,000 66,520 75,600 29,080
(2)HHHAS 20X 4,828,586 4,898,386 69,800
= 3,380,010 3,428,870 48,860
[ 434,573 440,855 1\B,282




S L OIEOHOI D
2 HOHO! SXSE(ARIEX]/FHAHSKI)
== NI [T =N - (&2 ML)
2N - F2 - H2A(ZH) - HI2AY - HES FoH J| &M Hns2
A 1,074,003 1,028,661 4,658
301 YBtEAZ 4,828,586 4,898,386 269,800
= 3,380,010 3,428,870 148,860
[= 434,573 440,855 NB,282
Al 1,014,003 1,028,661 14,658
01 MBI 2 E 2512 4,828,586 4,898,386 269,800
OZoHeIZ X 22X 4,828,586,000 4,828,586 4,898,386 269,800
= 3,380,010 3,428,870 148,860
[ 434,573 440,855 1B, 282
Al 1,014,003 1,028,661 14,658
S ES={IESINI=; 507,378 456,629 50,749
= 355, 165 319,640 35,525
[= 45,664 41,097 4,567
Al 106,549 95,892 10,657
301 YBtEAZ 507,378 456,629 50,749
= 355, 165 319,640 35,525
[= 45,664 41,097 4,567
Al 106,549 95,892 10,657
01 MBI BEEAF2 507,378 456,629 50,749
OO (D) N(ZILEA AR)
A 507,378,000 507,378 456,629 50,749
= 355,165 319,640 35,525
[ 45,664 41,097 4,567
Al 106,549 95,892 10,657
()OS (XA S) X2 326,118 377,392 NB51,274
= 228,282 264,175 135,893
[ 29,351 33,965 A4,614
Al 68,485 79,252 A10,767
301 YLIEAZ 326,118 377,392 N51,274
= 228,282 264,175 135,893
[= 29,351 33,965 4,614
Al 68,485 79,252 ~10,767
01 MBI X EA512 326,118 377,392 NB1,274
OZOHSSH(XHAIR) X 23X 326,118,000 326,118 377,392 N51,274
= 228,282 264,175 135,893
[ 29,351 33,965 A4,614
Al 68,485 79,252 ~10,767
(2)EHEZAAHE 2 1,946 1,000 946
= 973 500 473
[= 292 150 142
Al 631 350 331
301 YBtEAZ 1,946 1,000 946
= 973 500 473
[ 292 150 142
Al 631 350 331
01 MBI B E 62 1,946 1,000 946
OZMNEZAARE 2 23X 1,946,000 1,946 1,000 946




S L OIEOHOI D
Za: TN SXST(ARISK/FAHESNR)
== NI [T =N - (&2 ML)
A - M SA(SH) - MEAIY - BES 04| AroH J| &M Hns2
= 973 500 473
[ 292 150 142
Al 681 350 331
(Z)X0HQI= SHOImH foca)| 22 2,98 4,200 A1,232
[= 890 1,260 A370
Al 2,078 2,940 862
301 YREAZ 2,98 4,200 1,232
[= 890 1,260 AB70
Al 2,078 2,940 A862
01 MBI 2 E 52 2,98 4,200 1,232
OZ0HQI2 SHOITHAZHEHL)| 25
22X 2,968,000 2,98 4,200 A1,232
[= 890 1,260 A370
Al 2,078 2,940 A862
(2)HAQUAL 2HXA 2,345,715 2,338,434 7,281
= 1,642,000 1,636,904 5,09
[= 211,115 210,459 656
Al 492,600 491,071 1,529
307 @I2H0| A 2,345,715 2,338,434 7,281
= 1,642,000 1,636,904 5,09
[= 211,115 210,459 656
Al 492,600 491,071 1,529
10 Al SXALHESHHIEX 2,345,715 2,338,434 7,281
OXAQAUAL 29 A 2,345,715,0002 2,345,715 2,338,434 7,281
= 1,642,000 1,636,904 5,09
[ 211,115 210,459 656
Al 492,600 491,071 1,529
(2IHHLUAHFAIE 29 X 6,999,830 6,512,037 487,793
= 4,899,881 4,558,426 341,455
[ 629,985 586,083 43,902
Al 1,469,964 1,367,528 102,436
307 @120l 6,999,830 6,512,037 487,793
= 4,899,881 4,558,426 341,455
[ 629,985 586,083 43,902
Al 1,469,964 1,367,528 102,436
10 Al EXAIZHE2HH B X 6,999,830 6,512,037 487,793
OZOHR! HFEAL 2% AF 6,999,830,000 6,999,830 6,512,037 487,793
= 4,899,881 4,558,426 341,455
[ 629,985 586,083 43,902
Al 1,469,964 1,367,528 102,436
(Z)HOHQIAHFAIE 2OIEFIAMEXA 3,656 3,712 A56
= 2,194 2,227 A33
[= 439 445 N
Al 1,023 1,040 NV
307 12| 3,656 3,712 56
= 2,194 2,227 A33
[= 439 445 N6
Al 1,023 1,040 A7




S A

L
ZE: DR SRS (ABIZT/HAASTIR)
ci9l: Bl =XBE (S9:®g)
SH B SR(3) - AIRAY - BYS oflare =Y AimE==1}
11 A SXAIEE xR 3,656 3,712 A56
OFOIIHNFAIA 2IIHED| Hex
23 3,656,000 3,656 3,712 YANS§]
= 2,194 2,227 A33
= 439 445 Ya\S)
Al 1,023 1,040 A7
(2VEONAFAIE FL2LY 120,000 82,467 37,533
= 84,000 57,727 26,273
= 10,800 7,421 3,379
Al 25,200 17,319 7,881
307 SI2t0I& 120,000 82,467 37,533
= 84,000 57,727 26,273
= 10,800 7,421 3,379
Al 25,200 17,319 7,881
10 AIRISXAZEHE2EHIEX 120,000 82,467 37,533
O OHINFAIL Feag
Z2& 120,000,000& 120,000 82,467 37,533
= 84,000 57,727 26,273
S 10,800 7,421 3,379
Al 25,200 17,319 7,881
(S)EONISTIAIE BALRE =4 347,500 339,600 7,900
= 104,250 101,880 2,370
Al 243,250 237,720 5,530
301 LEIEXS 347,500 339,600 7,900
S 104,250 101,880 2,370
Al 243,250 237,720 5,530
01 A2l 2&E+0ll= 347,500 339,600 7,900
OONQISTIAIL BAK 4
Z& 347,500,000& 347,500 339,600 7,900
= 104,250 101,880 2,370
Al 243,250 237,720 5,530
S 2AAHI(LIF ORI (D1EHDIE} 119,218 126,530 AT7,312
Jl=dl 67,006 74,318 AT7,312
Jl=&H] 67,006 74,318 AT7,312
202 Oid| 44,468 51,480 27,012
01 SLHOAYI 44,468 51,480 27,012
OZLHoHI (ol aHE ) 2 & 31,832,000& 31,832 37,440 Ab,608
OZ2oidl(olarE2) Z2E 12,636,000& 12,636 14,040 A1,404
203 HLPF=&l 2,700 3,000 A300
04 BEM2IHRFEI 2,700 3,000 A300
SN RYYRET((AE)
Z& 2,700,000 2,700 3,000 A300
HRES(= AU (MBS I =4S EE) 2,042,333 758,154 1,284,179
28NS 2,042,333 758,154 1,284,179




S olEoHel Dt

B HRES(CQIFNOID) (ASISX/ ) M8 HE)

ool BN (erl: &g
S - ZB . CRI(EI) - HIRAY - BES 0] apot plEL! HlRE2
SEXE 2,042,333 758,154 1,284,179

802 Bret=3DIE 2,042,333 758,154 1,284,179
01 FNEXZLHEZ 1,734,206 610,294 1,123,912
O20219 & 1,534,101 558,007 976,094
—LOIUNIR] U ABIEE XRAI
1,520,460& * 14 1,521 0 1,521
—LoIUNIR] U ABIES KIRAIRI(0IRH)
1,329,250& 14 1,330 0 1,330
—LOIEESAIA Al
100,859,980 * 14l 100,860 0 100,860
—LIESSALIA A(0IX)
1,141,620& » 14 1,142 0 1,142
—SHL-QIEZH0HR! STOLAZMEIA SHXI
20,006,670& » 14 20,007 0 20,007
—SAHL-IESHONY STARLYNYIA 2
X2 (OIR}) 107,230& * 14 108 0 108
—ZRy Wiyl 2 o=l K
2,855,800& » 14| 2,856 0 2,85
—Z2Y Yoyl 2 Y20 XV (0IX)
34,8403 * 14 35 0 35
—ZoHRIA X2 At 14,979,28021 * 14| 14,980 0 14,980
— &I X2 AL (Ol AL) 165, 120& = 14! 166 0 166
N TN
418,698,000& * 14! 418,698 0 418,698
U ENEENETGO)
9,442, 110& » 14| 9,443 0 9,443
—E=8x JRr=E0 3,057,070& = 14 3,058 0 3,058
~SEPE JHIS0I(0IX) 68,9802 * 14 69 0 69
— A EHIS™MAIRA 1,512,000& » 14 1,512 0 1,512
— AL LA X (OIR) 9,320& * 14l 10 0 10
—LETHEAYIARIRA 795,540 * 14 796 0 796
— S THEABIATIZ(0I)
658,450 * 14 659 0 659
— ST OIOIEIIE S A A
275,410,390& » 14 275,411 0 275,411
— LTINS S HHIAKIH (01X
2,638,670& » 14 2,639 0 2,639
— LTINS S ZA AKIR
116,575,000& = 14! 116,575 0 116,575
— LNl DS S ZALI AKX (0IX)
986,850 * 14 987 0 987
—Zopel 3,214,520& = 14 3,215 0 3,215
—Z0HE 16,890& * 14 17 0 17
0202048 = 200, 105 52,287 147,818
—LOIUBEESHIA Al
141,300,550& = 14! 141,301 0 141,301




SA: LQIEOf oI
Hu: YRS (L=IFOHOID) (ABISX/ I ZMBEE)
&l 2dXE (e A )
2A - M. G2 () - HRAY - BES Ol Akt JIEH Hws
—QIFEES S AHIA AFZ(OIXE)
651,850 * 14l 652 0 652
—SHLCQISZSHC SSOHHLTIAHIA 2K
5,426,000 » 14! 5,426 0 5,426
—S) 0SS0 SSUHTLBANEIA 2Y
XIZ(O0IXH) 18,0302 * 14l 19 0 19
— A THAHOILA K| KIS X2 AL
404,900 * 14l 405 0 405
— AT K| KIS X AR (01K
14,7002 * 14l 15 0 15
02 Al - SHIEX38tE2 308, 127 147,860 160,267
O2018 = 250,842 114,696 136, 146
—LolTie] U AISIEE XIALY
455,050 * 14l 456 0 456
—LoIUTI] L AISIES XIRAKZ(OIX)
398,770 * 14l 399 399
—ALIIZE 2Y(0IX) 4,7002 * 1Al 5 5
—0I2H=20F QI X}2] AFIHEH| XIRI(OIRH)
3,2208 * 14l 4 0 4
—LOUEESAHIA ALY
12,969,090 * 14! 12,970 0 12,970
—OIOEESAHIA AFH(OIR})
146,580 * 14l 147 0 147
—SHLOIESSHOHC! SBoHNLBIAHIA 2SXIA
6,001,770 » 14! 6,002 0 6,002
—SHLOIESSINC SSUHHLEBAMHIA 2F
XIZ(OIXH) 32,1408 * 14l 33 0 33
—Z2Y Wiiey| o 232y X
2,570,210 » 14! 2,571 0 2,571
—A2Y WBH] & k=Y XIR(0IX)
31,3502 * 14l 32 0 2
—A2Y J|ISBUAY 7,0002 = 14 7 0 7
—ZOHI L Rf2I ALY 4,493,170 » 14! 4,494 0 4,494
—ZHOHQI L RF2 I AFRY (OIRE) 49,4902 * 14l 50 0 50
— SIS SIS
53,832,000 » 14l 53,832 0 53,832
—ZOjIESXIASHXIR(0IXH)
1,213,980 * 14l 1,214 0 1,214
—SE2X IS0 393,050 * 14l 394 0 3%
—SE8X IS0 (0l 8,870 * 14 9 0 9
— AL EHIRH X 194,000 * 14l 194 0 194
— AL HFR KX (Ol X} 1,2002 * 14! 2 0 2
—UETHE A HIA X2 102,2809 * 14l 103 0 103
—ULTHEMHIAKIR(OIXF) 84,660 * 14l 85 0 85
— SOOI E S M AR
35,400,700 » 14! 35,410 0 35,410




A IR0l
B S (RO (ABI=X/ ) ZME )
ool EAENS (=L
A B G(SI) - HIRAY - BYS ofl by J15Y s
IOl F I EEMOIAXRA(OIX)
339,270& * 14 340 0 340
— LRI NS S B A
14,990,000 * 14 14,990 0 14,990
— LT L DB S ZALIAXIR (O XH)
126,880& * 14l 127 127
—ZOHRIERD|DIXA 241,500 = 14 242 242
—HHEZAAMNE 2Y 4,670 * 14 5 5
—NZ 22 NSRS X
2,025,000& » 14 2,025 0 2,025
~NZ 22 XD K (0IT)
3,4302 * 14l 4 0 4
020208 &= 57,285 33,164 24,121
—LOIUBESHIA Al
18,172,4502 * 14] 18,173 0 18,173
— L AYBESBALIA AI(OIXH)
83,780& 14 84 0 84
—SHL-QIEEH0NRl STOAMLIA SHTI
1,628, 100& » 14 1,629 0 1,629
— S IEER0jC! STONLMIA 2
KIZ(OIRH) 54108 = 14 6 6
—d2Y JISEZAMY 4,228,210 = 14 4,229 4,229




